a(6 @) (rad)

1

2 3
TPlpoT (PCA t%obeamlinélf)

10

Ratl

a(d cot(B))

(SN
<

1072

100% M

iy
TTTT T T

0.95
107

2 3
TPlpoT (PCA t%obeamlinélf)

—=— /data2/legianni/pareto-opt/restart/CMSSW_14_0_5/src/MTV-plot/DQM_TT__original_PU

—— /data2/legianni/pareto-opt/train_area_forExtraParams/CMSSW_14_0_5/src/MTV-plot/DQM_TT__originalREDO

aoa, ) (cm)

107}

103 .....!

[y
TTTT] T

H Ll H

Loeeeean N Y I
- . .
HEE ] H

ARTARAM T

10

ol
(14

100 ——t-sp el

iy

0.95 E
1071 1

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o

o(d d.) (cm)

z

1

10\—1% M

1

2 3
TPl[g)T (PCA f%)obeamlinép



	Contents
	Page 1


